
11248 11248.5 11249 11249.5 11250
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

3.5−

3−

2.5−

2−

1.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

8338

8338.5

8339

8339.5

8340

8340.5

8341

8341.5

8342

ru
n

run:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8340}



11248 11248.5 11249 11249.5 11250
cyclenum

70.5−

70−

69.5−

69−

68.5−

us
l_

1X
usl_1X:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

4.5−

4−

3.5−

3−

2.5−

us
l_

4a
Y

usl_4aY:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

6

6.5

7

7.5

8

us
l_

4e
X

usl_4eX:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

22.5

23

23.5

24

24.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

38.5−

38−

37.5−

37−

36.5−u
sl

_1
2X

usl_12X:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

8338

8338.5

8339

8339.5

8340

8340.5

8341

8341.5

8342

ru
n

run:cyclenum {run == 8340}



11248 11248.5 11249 11249.5 11250
cyclenum

116−

115.5−

115−

114.5−

114−us
r_

1X

usr_1X:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

7.5−

7−

6.5−

6−

5.5−

us
r_

4a
Y

usr_4aY:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

168.6

168.8

169

169.2

169.4

169.6

169.8

170

170.2

170.4

170.6

170.8

us
r_

4e
X

usr_4eX:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

21

21.5

22

22.5

23

us
r_

4e
Y

usr_4eY:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
r_

12
X

usr_12X:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

8338

8338.5

8339

8339.5

8340

8340.5

8341

8341.5

8342

ru
n

run:cyclenum {run == 8340}



11248 11248.5 11249 11249.5 11250
cyclenum

16600

16600.5

16601

16601.5

16602

us
l_

co
il1

usl_coil1:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

2451

2451.5

2452

2452.5

2453

us
l_

co
il3

usl_coil3:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

5521.6

5521.8

5522

5522.2

5522.4

5522.6

5522.8

5523

5523.2

5523.4

5523.6

5523.8

us
l_

co
il4

usl_coil4:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

3148−

3147.5−

3147−

3146.5−

3146−

us
l_

co
il6

usl_coil6:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

2567.2

2567.4

2567.6

2567.8

2568

2568.2

2568.4

2568.6

2568.8

2569

2569.2

2569.4

us
l_

co
il7

usl_coil7:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

8338

8338.5

8339

8339.5

8340

8340.5

8341

8341.5

8342

ru
n

run:cyclenum {run == 8340}



11248 11248.5 11249 11249.5 11250
cyclenum

15016.5−

15016−

15015.5−

15015−

15014.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

1983−

1982.5−

1982−

1981.5−

1981−us
r_

co
il3

usr_coil3:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

5187.5

5188

5188.5

5189

5189.5

us
r_

co
il4

usr_coil4:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

2909.5−

2909−

2908.5−

2908−

2907.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

34690

34690.5

34691

34691.5

34692

us
r_

co
il7

usr_coil7:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

8338

8338.5

8339

8339.5

8340

8340.5

8341

8341.5

8342

ru
n

run:cyclenum {run == 8340}



11248 11248.5 11249 11249.5 11250
cyclenum

135.4−

135.2−

135−

134.8−

134.6−

134.4−

134.2−

134−

133.8−

133.6−

133.4−

133.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

10.6

10.8

11

11.2

11.4

11.6

11.8

12

12.2

12.4

12.6

12.8

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

257.5

258

258.5

259

259.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

234−

233.5−

233−

232.5−

232−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

25.5−

25−

24.5−

24−

23.5−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

263

263.5

264

264.5

265

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8340}



11248 11248.5 11249 11249.5 11250
cyclenum

295

295.5

296

296.5

297

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

109−

108.5−

108−

107.5−

107−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

49.4−

49.2−

49−

48.8−

48.6−

48.4−

48.2−

48−

47.8−

47.6−

47.4−

47.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

274.5

275

275.5

276

276.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

138−

137.5−

137−

136.5−

136−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

41.4−

41.2−

41−

40.8−

40.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8340}



11248 11248.5 11249 11249.5 11250
cyclenum

236.4−

236.2−

236−

235.8−

235.6−

235.4−

235.2−

235−

234.8−

234.6−

234.4−

234.2−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

90−

89.5−

89−

88.5−

88−12
X

_c
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l3

12X_coil3:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum
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1

1.2

1.4

1.6

1.8

2
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2.4

2.6
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12X_coil4:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

3

3.5

4

4.5

5

12
X

_c
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12X_coil6:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

524−

523.5−
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522.5−
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12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8340}

11248 11248.5 11249 11249.5 11250
cyclenum

8338

8338.5

8339

8339.5

8340

8340.5

8341

8341.5

8342

ru
n

run:cyclenum {run == 8340}
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